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International Junior Sudoku/Puzzle Competition 2020
Welcome to the web platform of the world puzzlers including the juniors.

We are happy to invite you to the 1st online competition, IJSPC2020.

The participants can play the puzzles with the world champions just at home.

You can expect world puzzlers prepared by the top class puzzle designers from all
over the world. Most of designers are the past World Puzzle/Sudoku championships
and recommended by each nations’ representative. We will host various
competitions especially for the youth players, including U08, U10, U12, and U15.

Both of IJSC and IJPC will be held four times a year at least. And we will host a
World Series as a final competition in every November. The format of the
competitions will be paper-solving with transcription of solutions and each round
will be open during one and a half day. The length of each round will be 50 minutes.

This competition can be participated in by any players who did register already this

year. However, all participants have to pay the annual membership fee since next
year.

AL Efot z|& HMH (How to submit Sudoku answers)

TAOICE 7R E/M2E, MM 2 80 HE VYV

BA|7} 2lo] QAGH[EL of 2ol E0i7h= =A7t 3/8|/714/6|5]1/2]9
OofgA| =l =2| YotHH Lok 7t2Fof chgt 9ls5lal2/31l7168
I:I-o|-£ 1|'/\'|'G|‘ [[Ho" %a_lagl_a o Ez& tgi

A2zl tigt Terg My Hols sixze P 6]2]8 9/7]4/5/3
ofgfjZ L0 MM ElL|Ct 7t3 @E=&qt 7to 2/9/311/4|6]8|7|5
Agtolatid gt 2hdatol| “162897453, 8(7[1]5(2|9]|3|4|6
517698432" 2t 2445 HA1 J 70| HEd 5/4|6l3/7/8l9!/1]2
Each Sudoku will be marked with 2 lettered 611|1917]5|3]12/8|4
arrows. You need to submit the digits in 4/3(8]16|1[2]5/9]7

these arrows, in order, including the givens.
For example, the answer key for the Sudoku at the right is 162897453, 517698432.

http://puzzlerace.org




U08 HHAE (Points table for U08)

- U08 : To be born in the first day of January, 2012
- Points typically indicate the difficulty of each puzzle and the time taken to solve it,
but your personal experience may differ.

-2012EH 19 1Y = 7 o|Zof 2445 At2ke Y08 of SHHE/L|Ct,

f
- ho| =9t of i Fo| AlZhol| mf2f BiYS FA|otct ChEA of7ien, of=2R ZAI7 ¢
| 7Ho1%

2Ll 2l A7t oA E2l= 52l W=7 U & UFLIE,
AEF (Sudoku) Points
1. Y8l AE 3 (Classic Sudoku) 4
2. Udk A& 3 (Classic Sudoku) 4
3. YHt AE 3 (Classic Sudoku) 5
4. T2 AE 3 (Diagonal Sudokul) 6
5. tHZtd A= 3 (Diagonal Sudoku) 6
6. A%l AZZF (Chain Sudoku) 3
7. |l AZ3F (Chain Sudoku) 8
8. X214 AT F (Irregular Sudokul) 5
9. X324 AT F (Irregular Sudokul) 6
10. €4 AE3 (0dd Sudoku) 5
11. €4 AE3 (0dd Sudoku) 6
12. 254 AL 3 (Thermo Sudoku) 8
13. 254 AL 3 (Thermo Sudoku) 8
14. Z2{ A= 3F (Killer Sudoku) 6
15. 3] A& (Killer Sudoku) 7
16. Z2{ AL 3F (Killer Sudoku) 13
A (Total) 100
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U08 Sudoku

1~ 3. YHk AT 3 (Classic Sudoku) [4 + 4 + 5 points]

Zt 7t2E, 7 H2E, F2 HoE E2MQl 2x2 BtA BE 18 47122 2atE FH¢l0] Fof
gL,

Place a digit from 1 to 4 into each of the empty cells, so that each digit appears
exactly once in each row, column and outlined 2x2 block.

W
N =1k~ W
Wil A~ =Mo
el BAE B R
= Wi B

4 ~5 izt AC 3 (Diagonal Sudoku) [6 + 6 points]
Aol J0jZl tiZtHo = 2aHE2 38 lol AolgELch

Apply Classic Sudoku rules. On both marked diagonals, each digit must appear
exactly once.

ST R

o I EARREIEN
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6 ~ 7. Al AZZ (Chain Sudoku) [3 + 8 points]

7t 7teE, 74 M2E, Sttel AQles AZxlof Qs 7HE BF 18E 3 Es 47129
ZAE 540l olgdELict.

Place the digits from 1 to 3 or 4 in every row, every column and every chain of
connected circles.

23

8 ~9. A|34 AL (Irregular Sudoku) [5 + 6 points]
24 7tRE, 4 MEE 2 HoR MRl ZF FHo| 18E 4712[2] 2A}
ofg&LIct.

fu|ru

= Ol

Place the digits 1-4 exactly once in each row, column and bold outlined region.

4 4

w
P — | W
wlhIn| =
N NUSH N
B S
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AT ol TGk ALST 4 YALITH

l 3| 4

N | W | —
Al =1W[IMN
(U0 R B B e e

2
2 -
T

12 ~13. 254 AE3 (Thermo Sudoku) [8 + 8 points]

2L A2t RRE(EE FE)FE & FEoE Z4E 2A7H A HAMok Yok
Apply Classic Sudoku rules. The digits in each thermometer are, from the bulb to
the/each end, all different and placed in increasing order.

n_,u)

2

il |2
©

4 4

Wil —=15s
N AW =

‘—'-IL.LJI-L\)I'\J
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14 ~ 16. 42| AL T (Killer Sudoku) [6 + 7 + 13 points]

Aol (Hiez F2MQL 7t F) /1F Jtholl A ol 22z 3 Qtof| AfgElE =
AtEe| 23S ULICL of Qtollie BE ME CHE £2k25H TAdE|of lofof it
Apply Classic Sudoku rules. The digits placed in each marked cage must sum to the

total given in its top-left. Digits must not repeat in cages.

—a
LJ

I
M
L
—3
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U10 BHAEE (Points table for U10)

- U10 : To be born in the first day of January, 2010 ~ last day of December, 2011
- Points typically indicate the difficulty of each puzzle and the time taken to solve it,
but your personal experience may differ.

-201049 1€ 145E 20114 12€¥€ 31U Afolof| 2A85H A2k U100]| SHYELICE,
- o] =t o4t Fo| A|7tof| ma} vfH-S FA|ofct Ct2A| oj7ion, o2 2A|7t £A|
E2|HLt £l 2AH7t ofFA E2l= 59 HJAXZF US4 UELIC

AEZF (Sudoku) Points
1. 48t AEF (Classic Sudoku, 4x4) 2
2. Udk AT 3F (Classic Sudoku, 6x6) 5
3. 7t A& T (Diagonal Sudoku, 4x4) 3
4. tHZHd AR T (Diagonal Sudoku, 6x6) 10
5. A[Ql AEZF (Chain Sudoku, 4x4) 4
6. Al AZZ (Chain Sudoku, 5x5) 9
7. X34 AT (Irreqular Sudoku, 4x4) 4
8. A|24& AT (Irregular Sudoku, 5x5) 7
9. 24 AE3 (0dd Sudoku, 4x4) 3
10. 4 AEZF (0dd Sudoku, 6x6) 8
11. 254 AEZF (Thermo Sudoku, 4x4) 2
12. 254 AEF (Thermo Sudoku, 6x6) 13
13. ¥4 AEF (Consecutive Sudoku, 4x4) 3
14. A& AEF (Consecutive Sudoku, 6x6) O
15. Z2] AEZ (Killer Sudoku, 4x4) 3
16. 2] AEF (Killer Sudoku, 6x6) 15
A (Total) 100
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U10 Sudoku

1 ~2. Yk A3 (Classic Sudoku) [2 + 5 points]

2t 7tRE, 7t MEE, F2 AR EMQl 2x3 £ 3x2 HA BF 18F 67122 £
Mg F-590| Hofd&Lict

Place a digit from 1 to 6 into each of the empty cells, so that each digit appears
exactly once in each row, column and outlined 2x3 or 3x2 block.

S1 1 || [218
12 |13
4 5| | |4
3 5] |1
2 | |6
46 o 1
3~ 4, tfZtMd AE T (Diagonal Sudoku) [3 + 10 points]
so| Joj3l ciZtiol|l e 22152 38 glol Hol'gELct,

-
A

NG W~
W BEIN OO0 —

A ajwNjoo
O IR =N W
\SJ(ON][4; [[p] RN N

Apply Classic Sudoku rules. On both marked diagonals, each digit must appear
exactly once.

N

N\

6

5|1

E 2
\\\\ 5 |
6 3

%4

N\

7A

s|oojon
BN =

pS|on
=N

N|— oo X
A tjw o
1

=N
N
o LS

W 1
411 | N
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5~6. A9 AEZZ (Chain Sudoku) [4 + 9 points]
2t 7t2E, 7 MEE, Sthfe| AH|QleR AZAE[o] Qe THE BF 18E 4 E 57129
ZAHE F&el0l Ho{'dELct.

Place the digits from 1 to 4 or 5 in every row, every column and every chain of
connected circles.

23

7 ~8. A4 AT (Irregular Sudoku) [4 + 7 points]
4 7tRE, 4 HMEE, A2 A2z E2Mel ZF gYo| 18E 4 £ 5712 (2] 2AHE F
& glo| Hofg&tLct.

Place the digits 1 to 4 or 5 exactly once in each row, column and bold outlined region.

4 4

— 1T Wl BN

3
1
2
4

)
= W
Wil —
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9~10. 24 AEF (0dd Sudoku) [3 + 8 points]
AUTH 7Holl = E40F AMRE £ UELICH

= [
Apply Classic Sudoku rules. Shaded cells must contain odd digits.

1 2 4
5

S
2
1
4 3

N OO ~CO —
= B0 WIN O
¢SS E-GEEN [§) o)
SO0 O1—= N
O =N ONlh~ W

S 6 S

11 ~12. 2E4 AEF (Thermo Sudoku) [2 + 13 points]

SEAO| AR HE(ST HE)HE P HEo2 ZAE 2xp7} YA Hob YLICh

Apply Classic Sudoku rules. The digits in each thermometer are, from the bulb to
the/each end, all different and placed in increasing order.

4

2

3
4

6

4]

0|32

N =W Ao
OO IN|w

A Wwoionh —
A NN wlo
o N o1~
W oo =N
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13 ~ 14, A4 AT 3 (Consecutive Sudoku) [3 + 9 points]

+ 7F Alolof = EA|7b &[o] QICHH O & 7k ALEl 2AE ARESHoF ©Lch 2E
HEAI7E Fo{x Q7| miZof| ofRed EA[7} QIO ALEl A7} LietA= ¢t FL|ch,
Apply Classic Sudoku rules. In all cases where two neighbouring digits are
consecutive, these are marked separately.

2l | 6
4 5
H

3

_\[\)K
= BOIDNNIW O

Ao
N

- OO0 W

e}
D

|o

o —

6
3] | 1

15 ~ 16. Z2| AEZ (Killer Sudoku) [3 + 15 points]

Aoz (F/dez Ml ZF ) AF FTtoll 27 Fo{T A= 2 ol ALBEIE =

O L—
2tE2| TS THLICL of oM BE Mz ChE 22 FAgE|o] Qlojof FLIcf,

Apply Classic Sudoku rules. The digits placed in each marked cage must sum to the
total given in its top-left. Digits must not repeat in cages.

=

SIENIN
W O
NN
o

http://puzzlerace.org




U12 Bl E (Points table for U12)

- U12 : To be born in the first day of January, 2008 ~ last day of December, 2009
- Points typically indicate the difficulty of each puzzle and the time taken to solve it,
but your personal experience may differ.

-2008 1% 1 YRE 2009 H 12 ¥

31 Atolof] S/TH At U120l s LIct.
- hol=of o4y Fo| Al7tol w2t i A

Aot CrEA oj7iend, of2R A7 47
AL 212 A7F oA E2l= 2 HAR7E US4 UFHC
A& T (Sudoku) Points
1. ¥t A= 3F (Classic Sudoku, 6x6) 2
2. Yok A2 3 (Classic Sudoku, 9x9) 8
3. tiZtd AE3F (Diagonal Sudoku, 6xé) 5
4. tZHd AEZF (Diagonal Sudoku, 9x9) 11
5. 2|24 AEZ (Irregular Sudoku, 6x6) 5
6. A|24a AEF (Irregular Sudoku, 7x7) 11
7. tHZfd 4 AE3 (Diagonal 0dd Sudoku, 6x6) 5
8. tztd €4 AE3F (Diagonal Odd Sudoku, 9x9) 11
9. A&7 AEF (Kropki Sudoku, 4x4) 1
10. 27| AEF (Kropki Sudoku, 6x6) 3
11. 24 AZF (Thermo Sudoku, 6x6) 4
12. 254 AEF (Thermo Sudoku, 6x6) 6
13. 914 AE 3 (Consecutive Sudoku, 6x6) 2
14. 914 AE3 (Consecutive Sudoku, 9x9) 11
15. Z2{ AEF (Killer Sudoku, 6xé) 5
16. Z2f AT (Killer Sudoku, 6x6) 10
A (Total) 100
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U12 Sudoku

1~ 2. Yk A3 (Classic Sudoku) [2 + 8 points]

7t 7tRE, 7 MEE, A2 do2 E2MeQl 2x3 E& 3x3 A BE 18E 6 E= 9
M| A5 FEi0l HofdgLict

Place a digit from 1 to 6 or 9 into each of the empty cells, so that each digit appears
exactly once in each row, column and outlined 2x3 or 3x3 block.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes 6x6 and
9x9.)

51
4 5
2

3 5
46 |51

3~4 izt A3 (Diagonal Sudoku) [5 + 11 points]

Ao 2o thzbdol|l = 22kE2 F5 glo| Fofg&LIct,

o= P|WN
N[O W~ O1
W BIN OO —

TNENEINEE)
IS ENEN )
N w1 o= A

Apply Classic Sudoku rules. On both marked diagonals, each digit must appear
exactly once.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes 6x6 and
9x9.)

N | 15]1 423
6\ [3]5
11 INS 11
4\ 1]2
4 1 BN %1

-~

N\

~N|w o

DOjOn
][ #11&, 1NN N1
A= (N[

AR

QW o

~on
NN
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5~6. 2|34 AE3 (Irregular Sudoku) [5 + 11 points]

7 7teE, 74 M2E A2 Ao E2{MRI ZF dYol 188 6 E& 77R[2] 2AtE F
2 glo| ofg#Lict,

Place the digits 1 ot 6 or 7 exactly once in each row, column and bold outlined region.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes éx6 and
7x7.)

2 1

o|wo|aN
w N|=[om]on
oo[=[Nlw
w N|o/ Ao~

»
N B orfw = o
o NN TR

1 3 1.4

7 ~ 8. tiZtd B4 ALE 3 (Diagonal 0dd Sudoku) [5 + 11 points]
do| 1o thZHol = 2252 35 glol Fof'dgLict. E, MG 7tol= Z4+T ArE

Apply Classic Sudoku rules. On both marked diagonals, each digit must appear
exactly once. Also, Shaded cells must contain odd digits.
(The example uses a grid of size 4x4. The actual puzzles will have grid sizes 6x6 and

m_\‘\ - -

\1\ 2 | 4
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9~10. A87| AEF (Kropki Sudoku) [1 + 3 points]
£ 7F Atofof| A2 Ho| Fo{x QUCIH gt £A7f ChE LAt 28 u|ct, 2] Ho| Fo{x QICIH
3 5 72 ALE 22HE ArBol{of Lok &3] 12t 2 Aojoll= HA2H-ut B F ot LE 4
UGLIEE o|F THESH= BE BEAIZF FoiA 7| miFoll, Ho| RI5|Z| ¢f2 ZollME QAHT F
7to| ALKEl 22p7F LE AHLE 26l A7} LI £ QLELICL.

Apply Classic Sudoku rules. A white circle between two cells indicates that the
neighbouring digits are consecutive. A black circle between two cells indicates that
one of the digits is twice as large as the other digit. The absence of a circle indicates
that there is no neighbouring digit that is either consecutive or double.

| | 2 _1_1

L ]
s
L ]

»

11 ~12. 254 AE3 (Thermo Sudoku) [4 + 6 points]
ZEA2| ARt RE(SZ FR)FE B FE2=z 248 A HAH HAoF Yok

Apply Classic Sudoku rules. The digits in each thermometer are, from the bulb to
the/each end, all different and placed in increasing order.

N = Ao
01 o= N
N oo —
- AN w|o
o N|& 01—
WO =
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13~ 14. 944 AT 3T (Consecutive Sudoku) [2 + 11 points]

S 7t Afolofl HE EA|7t Elof QUCHH 1 & 7he A4El LAt AMGSHo} FLIch BE EA7t
F0i4 Q7| ufZof otfH EA|7} YO ALEl LAp7t LikM = QF HL|Ch

Apply Classic Sudoku rules. In all cases where two neighbouring digits are
consecutive, these are marked separately.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes éx6 and

9x9.)

2 6 S

4
3
2
1

A IN|—= |0 W
QIO (W =N A~

= KO NW O
N|WIH~ OO0 —

W O (=N

3 1 6

15 ~ 16. Z2{ AL (Killer Sudoku) [5 + 10 points]
AoZ| (W22 F2MQl Zh FA) AF ATl A Fo{2 2t O Qo AMRElE 2AtE2Q

[ | (o
292 RYLICE o] UofAE BE M2 CHE £AH2I TAEl0] Qlofof FLch

Apply Classic Sudoku rules. The digits placed in each marked cage must sum to the
total given in its top-left. Digits must not repeat in cages.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes 6x6 and
9x9.)

L | [4la0203)61M)
] 13 611/51204)
letdd | [OL1 0328413
i 21314161115

e o | e e s e ] e | s
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U15 BHAEE (Points table for U15)

- U15 : To be born in the first day of January, 2005 ~ last day of December, 2007
- Points typically indicate the difficulty of each puzzle and the time taken to solve it,
but your personal experience may differ.

-2005'4 1€ 1 ¢EE 2007H 12¢ 31
- hol = ol Eol AlZtol| mt2t BiHS

ZF2|7LE 2= ZA7t oA E2l= 52

A Atolof| E/HTH A2 U156 of SHEELICE.
AHlojch ci27| oj7ien, o2 A7t 27

AUAF7H AZ & UFLITH.

o
A e

A_'.:_E.'— (Sudoku) Points

(Classic Sudoku, 6x6)

£3
Udt AT 3 (Classic Sudoku, 9x9)
C

Il
rx
|>
-u
o
Q
({(e]
(@]
=3
Q
wn
c
o
o
=3
c
o~
X
o)

n
==

Il
rx

AL 3F (Diagonal Sudoku, 9x9)

(Irregular Sudoku, 6x6)

C
I

N
[
B>
|>

C
0

(Irregular Sudoku, 8x8)

s |
[n
2
[>
|>

£ 3 (Quad Max Sudoku, 6x6)
=]

AT

U
[n
2
[>

(Quad Max Sudoku, 9x9)

V| © N o0 MWD
X
|4
P
[>

[>
fr
-u

XXV (XXV Sudoku, 6x6)

OO~ O A~AOP~OOOPOPANPAND

10. AE3F XXV (XXV Sudoku, 9x9)

11. 24 AEF (Thermo Sudoku, 6x6)

12. 254 AEF (Thermo Sudoku, 9x9)

13. 294 AL 3 (Non-Consecutive Sudoku, 6x6)

14. 294 AEF (Non-Consecutive Sudoku, 9x9)

15. CiZtd 22| A& 3 (Diagonal Killer Sudoku, 6xé)

16. tizpd 22| A= T (Diagonal Killer Sudoku, 9x9) 11
A (Total) 100
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U15 Sudoku

1~ 2. Yk A3 (Classic Sudoku) [4 + 7 points]

7t 7t2%, 7 MI2E, R MoR EaMel 2x3 EL 3x3 HlA BE 1HE 6 EL 9
M| A5 FEi0l HofdgLict

Place a digit from 1 to 6 or 9 into each of the empty cells, so that each digit appears
exactly once in each row, column and outlined 2x3 or 3x3 block.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes 6x6 and
9x9.)

91
4 5
2

3 5
46 |51

3~4, izt A3 (Diagonal Sudoku) [4 + 7 points]

Ao 2o thzbdol|l = 22kE2 F5 glo| Fofg&LIct,

o= P|WN
N[O W~ O1
W BIN OO —

TNENEINEE)
IS ENEN )
N w1 o= A

Apply Classic Sudoku rules. On both marked diagonals, each digit must appear
exactly once.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes 6x6 and
9x9.)

N | 15]1 423
6\ [3]5
11 INS 11
4\ 1]2
4 1 BN %1

F

N\

~N|w o

DOjOn
][ #11&, 1NN N1
A= (N[

7T\

QW o

~on
NN
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5~6. 2|34 A3 (Irregular Sudoku) [4 + 8 points]

7 7teE, 4 M2E A2 o2 E2{MRI ZF dYol 18H 6 £ 87[2] 2tE F
£ glo| olygLict.

Place the digits 1 ot 6 or 8 exactly once in each row, column and bold outlined region.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes éx6 and
8x8.)

2 K

4] 3 1
1 3

7 ~8. FLWMA AT T (Quad Max Sudoku) [4 + 8 points]

Ul 7F Atolofl o7l SHEE O Lo £ 2245 F 7H Z A7) ofclof| Q=R E
gLict, o] QM= EH2 2AE o3 H & & UR[R, 7MY 2 KA HEEA 1743F L}
ofof gLt

BN NIEES
w N[o Ao~

S WIN|—=|O|On
O =K OIINNW

»
N-hcnw—yov
= O1lW OB N

Apply Classic Sudoku rules. The digit pointed by the arrow must be greater than the
three other digits that the arrow touches.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes 6x6 and
9x9.)

()

(™)

Nl Do To

DO|= N[DTW
B WwWlo ;=N

http://puzzlerace.org




9 ~ 10. AEFXXV (XXV Sudoku) [4 + 8 points]

T ZHUHl 7F Afolofl X7t of QUChHE 3 & 7HY| 7ke| 2 10 ULCh

V7t Zofz{ Tt 1 £ 7ho| ghe 5 LCt ofF §HESte LE EAF Rofy ALt
Apply Classic Sudoku rules. All horizontally and vertically neighbouring digits with
the sum 10 are marked with X, all horizontally and vertically neighbouring digits
with the sum 5 are marked with V. Additionally, all squares where the sum of the
digits adds to 10 are marked with X in the center of the square.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes 6x6 and
9x9.)

| [3V2

11 ~12, 2E4 AEF (Thermo Sudoku) [4 + 9 points]
2EAQ AZF RE(GZ EE)RE B #2202 Z4E 2Ab7F HAH #HAoF Lt

Apply Classic Sudoku rules. The digits in each thermometer are, from the bulb to
the/each end, all different and placed in increasing order.
(The example uses a grid of size 6x6. The actual puzzles will have grid sizes 6x6 and

4 3 5132
2|m |4

Wl =

—~ BN W
o N Ol =
WAoo = |

N =W Bolo
O o= IN|w A

-b \
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13 ~ 14, 294 AT 3 (Non-Consecutive Sudoku) [4 + 9 points]

ALE £27|2| AoHaLLR o2 4 YELCL

Apply Classic Sudoku rules. Two horizontal or vertical neighbouring digits cannot be
consecutive.

(The example uses a grid of size 6x6. The actual puzzles will have grid sizes 6xé and
9x9.)

U1 N|OY W
W BN U1
DB (=]U1 N
N W= | DB

1
4
6
3
5

62 1
3
5
2 4/6]3

15 ~ 16. tHZtMd Z2{ AS 3T (Diagonal Killer Sudoku) [5 + 11 points]
Aol T1oj7l cZHHoll = 2252 38 glol Hol'daLIct.
&, AoR|(HAHL2 E2iMel ZF J) fUF AThof 2HA| RofZl 2ap= O ¢tof| AMEElE RAFE

o| S THLICL of YollM= BE M=z ChE 2AR2TH 2/4gE[o] Qlofof LIcf,

|_L
@)
N

AN W O

Apply Classic Sudoku rules. On both marked diagonals, each digit must appear
exactly once. The digits placed in each marked cage must sum to the total given in
its top-left. Digits must not repeat in cages.

(The example uses a grid of size 4x4. The actual puzzles will have grid sizes 6x6 and
9x9.)

~J
—
J
I

AN
<
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